Specific Heat practice
Specific Heat of water= 1cal/g°C

Heat Energy equation: Q=mc∆T

	
	Water
	Iron

	Mass (g)
	85
	24

	Initial Temperature (°C)
	23
	100

	Final Temperature (°C)
	26
	26


Please calculate the specific heat of Iron.

∆T of water = 26-23=3°C

∆T of iron = 26-100=-74°C





-(1calorie/g/°C)(85g)(3°C)
specific heat of Iron =           ----------------------------------
= .14cal/g°C





 (24g)(-74°C)

The specific heat of iron is .11cal/g°C. Please calculate your percent error.

Percentage error = (true-calculated)/true * 100

So

Percentage error =(.11-.14)/.11*100 = -27%

